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2 MOIS=ZAMD
M DIF (YLD DT/ UBEHE)
el DEMEMEIANS (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—&d 100,000 % 124%23] 200
ORIRAHIA e LA A4 2,000
— %% 600,000+ 1JH R A 600
— P 400,000 24 £ A 800
—&d 300,000 *x2IH £ A 600
Oolel ZIE Q2N Al
3,000,0002* 14! 3,000
IR0 29 18,934 17,589 1,345
101 Q124H] 18,934 17,589 1,345
M IIIR22NEES 18,934 17,589 1,345
ORIHT 20| JIZHHl 22X 24 18,934
== 76,9602+ 124198 15,239
—F5+d 76,9602 %1239 3,002
—ARSEISY
76,9602 %129 693
NEEEERES 19,000 26,460 AT ,460
201 L2 A 19,000 17,460 1,540
01 AbR2t2IHI 9,700 9,100 600
OSEEYLI)| M8 S4SX(2Z 2 15) 2L
50,0002x2E 258 Ax13] 2,500
Osgtizsgez)| Zgiy EH 7Y
200,000+ 120%23] 4,800
OSs=gLZ)| AHOIZY S& 2
100,000 % 12CH22+ A 2,400
02 2229H| 9,300 8,360 %0
OSs=gLZI| AlAE X2
7,750,000 * 12CH*10/100 9,300
2OI0IRLTHD 2H 266,430 88,240 178,190
201 L2 A 48,430 38,240 10,190
01 AF22t2IHI 15,360 13,460 1,900
OZFURE R0101ALZ)| SSHH AXIE
200,0002 % 14! 200
OR0I0IKALZI| Mg E42X 7
50,0002 %17CH+83] 6,800
OReolglagtza)] gy £l 7Y
200,000 % 17CH+23] 6,800
OR0I0IRAZI| LOIAHIAIAE 42
130,000 % 1 A* 122 1,560
02 2229l 33,070 24,780 8,290
OReloIgetz)| 322 < HAl
50,0002 %104 A 122 600
ORelgIftz)| X 22
18,500,0002 * 17CH*10/100 31,450
OdlZ3tERIHI| |XIEA
5,000 %17CH*12JH 1,020
405 XHAHE SH 218,000 50,000 168,000




2 MOIS=ZAMD
M DIF (YLD DT/ UBEHE)
el QISP MEIANZ CEEEED
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
01 AL SEFSH] 218,000 50,000 168,000
OReloiggtza)| ¢
25,000,000 *8CH 200,000
OSesyea)| 7
9,000,000 *2CH 18,000
CEEE=] 1,430 1,430
201 LB 1,430 1,430 0
01 AFR2t2IHI 1,430 1,430 0
OHULE HH| FXEL (AN S)
300, 0002 *3CH*131%50/ 100 450
OS2 MAl Kol
1002*35*1,0000H 300
O0IALS 2 AR2E 72
20,0002 %25 +123] 480
OENEE QEEE 7Y
4002 *5000H 200
(2)0EAIR Thgdl XA 13,163 13,415 N252
= 13,163
101 Q124H] 13,163 13,415 A252
= 13,163
I EEI RS 13,163 13,415 N52
O0TLZ MAR BX ol
13,163,00024x 1 13,163
= 13,163
(2)IEZHSEARH 20 1 54,147 15,310 38,837
= 54,147
201 LB 41,147 15,310 25,837
= 41,147
01 AF222IHI 41,147 15,310 25,837
OArR221H| 28,667
—IIEBHSE M A2
200,000+ 11CH*103] 22,000
= 22,000
—IIERHSE SAEX
20,0004 +20Et A% 12 4,800
= 4,800
—IISPHSE ANP2RE
1,867,0002 % 14! 1,867
= 1,867
o=zl 12,480
—IIEPHSE 2=
8,000 *104!x 13 12 12,480
= 12,480
202 O] 13,000 0 13,000
= 13,000




SA: MOISSAtD
M QAN (UBIE I /UBIEHA)
el 2IESMENEIANS (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
01 =LHO4H| 13,000 0 13,000
O=Loy| 13,000
—IJISEAHSEAR EF 0l
200,000 % 13H+53] 13,000
= 13,000
OIAAMEZAH 2Y 282,893 321,225 238,332
201 22| 32,615 35,017 2,402
01 AtR2t2ld] 1,200 3,300 A2,100
OBME ROIZHIAAE 42
100,000 %12 1,200
02 2223l 31,415 31,717 A302
OSdH I3 500,0002 %12 6,000
O3HH S3te=2 300,0002 %12 3,600
OS24 SXAHIA A EZ
10&%6,00024* 122 720
O2HIH QIEY ABE 40,00084% 122 480
O24H A2 |22l
2,000,000 %171 A 2,000
OZ4IH ME2AAY X2 18,615
—AIZEQN RXE=
141,304, 20024+ 12/100 16,957
—otERIN FRE=
13,814, 100&%12/100 1,658
307 @I2+0| M 250,278 241,208 9,070
05 QIZtRIEZ 250,278 241,208 9,070
O2MH 29 22 250,278
— A= AL o124H| 17,895, 2402 %122 214,743
—AIAE Xt 1,210,000 122 14,520
-3l E&H| 1,751,200+ 122 21,015
MOIS2S 43Ut T/UBrEE) 632,810 650,860 218,050
& 35,900
Al 596,910
SVU2SHH =4 632,810 650,860 18,050
& 35,900
Al 596,910
=SP2SHM 2Z XA 12,000 12,000 0
201 2B23d| 12,000 12,000
01 A=R2t2(d] 12,000 12,000 0
OZ&Il & JI2J] wAH(MoE 21 5)
4,000 *5000H 2,000
OIt27120I10 &bl 15,000 *2007H1 A 3,000
O=3ozs 822 M 1,400
—S40 60,000 *5Ex23] 600
—-S=2= 1,000 422004 800




S2A: MOIS =AY
i MOIS2S SHGHUDIDIHE/UBEIH)
Cel: 2DISSCH |4 (chol: <)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
[ OSlzel B N 80,0002 *70H 5,600
20120 DS A 59,600 31,230 28,370
301 LBtE A= 59,600 31,230 28,370
TENEREE 59,600 31,230 28,370
OMOFS XIS RICHE] JHARE 0]
90, 000244024 *23] 7,200
OMOIS XIS RHHEE S04t
90,000 x6H* 10 <23 10,800
O20I2=CH MIDILH & DSEA O
90,0002 x40 x43] 14,400
OMOIE Z=Eoi25t6i0tet &4 o]
90,00024%302i*13] 2,700
OMOISXIE DS I I 10,000
—Oitl 90,00024+40% 3,600
— S 160,000 *40H 6,400
OMOISXIE At 221Xt s A 1,750
— 01| 90,00094+7% 630
—w=H| 160,000 *7H 1,120
OHlZA|2S243t SAMUE| &It 0]
90,00024*20 % 1,800
OHIZAHAD |2 SAME AFEIE| &0}
it 90,00024%20% 1,800
Ot |I2E M20i4U3 &4 o]
90,00024*20 1,800
Ot |I2S HEUE &4 oL
90,0004 %20 1,800
OHIZHADI2E AILI CIXE ZEAY
90,00024*20 % 1,800
OHIZHAD|I2E AlRl2|H DNELH 3,750
— 0l 90,0004+ 152 1,350
— WS 160,000 % 15& 2,400
Z0I2SCH AR 276,200 326,300 50,100
307 2I2I01A 276,200 326,300 50,100
02 DIEEMAIIE R 136,200 160,300 A24,100
OMOIS oAl IS X2(EXS 90%)
6,000, 0002 % 14! 6,000
OGreen City Z&AIS 10,000
—AFAIMOISE 3,000,000 %1 Al 3,000
—HI2HAD|I2E AZAIES
3,000,000 % 14! 3,000
— e SEAAWYATAIH |3
4,000,000 % 14! 4,000
OMOIS AHOBIEIOI KA
8,000, 0002 % 14! 8,000
OMZO| & DHZ=I| XA (BXE 90%)
5,000, 0002 % 14! 5,000




SN MOISEAD
M MOIS2S SYSHULBTHY/LLHEE)
CHel: ZOISSH |4 (ciel: =2l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OSHs MOISEH ei2FsEs S N (2x8
90%) 57,000,0002* 14! 57,000
OMOIZRSEA 22X
3,000,00091% 14! 3,000
OHI2HADIRS =20s 23 NA(ZES 80%)
10,000, 0002 141%80/100 8,000
OHI2HADIZS JIZZMXIZD| X
3,400,00091% 14! 3,400
OHI2HADIRS 043 2AIES X
3,500,00021% 14! 3,500
OSHS HI2XcHH s3Fses S NA(BES
90%) 32,300,000 % 14! 32,300
03 RIZIHHI g M 22X 140,000 166,000 226,000
OZ=AIMOISE 2SHI(EX8 FNH)
100,000, 00081 % 14! 100,000
Ot A NEols 2gHl(Bxe B
40,000,000 14! 40,000
DISSCHI SAL 20,000 25,000 5,000
307 RIZHOIA 20,000 25,000 5,000
04 QIZFBHAFAIIE R 20,000 25,000 5,000
OMDISXIEX 43| X (SXS 80%)
12,500,0002*141%80/ 100 10,000
OHI2HADIESIE] 213 XY (2XS 80%)
12,500,0002*141%80/ 100 10,000
(Z)21C MirS2 98,680 89,680 9,000
= 31,000
Al 67,680
301 YBHEAZ 7,000 7,000 0
< 3,500
Al 3,500
04 &E 228 7,000 7,000 0
OMOIZX] X
1,000,000 %72 7,000
= 3,500
Al 3,500
307 RIZHOIA 91,680 82,680 9,000
< 27,500
Al 64,180
02 SI2FEARA 51,680 51,680 0
O#i=st BaRRl 2HEI| ALY
24,000,0002 % 14! 24,000
< 7,200
Al 16,800
O-Eel =4
7,680,00091% 14! 7,680
= 2,300




£M: MOISSAM
T MOISEE Bas(LUEBeE/Asiem)
Chol: 20I2SCH |4 (crel: 12l
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 5,380
OMODts d4aeldl At
20,000,000 *14! 20,000
& 6,000
Al 14,000
03 QIRIHHBEE2FHIEX 40,000 31,000 9,000
OMOIZ2S #7 29 X
40,000,000 * 1A 40,000
= 12,000
Al 28,000
MOE=23 MIASA 150,000 150,000 0
306 = 150,000 150,000
01 &3 150,000 150,000 0
Odi2A MDOISAIE0E =4
150,000,000 * 14! 150,000
(Z)EIEAHDI2S 2435t 16,330 16,650 A320
& 4,900
Al 11,430
307 2I12t01 & 16,330 16,650 A320
& 4,900
Al 11,430
02 QIHAAAMAEE 6,330 6,650 A320
OttEAD|I2E HEMEAd NS
1,330,000 * 14! 1,330
= 400
Al 930
CHi2iai2s HHs|X2 243t
5,000,000 *14! 5,000
& 1,500
Al 3,500
03 QRSB E2IFHIEX 10,000 10,000 0
OottEAHaIz2s g4dst =& 29 A
10,000,000 *14] 10,000
& 3,000
Al 7,000
KNASAHE 29 (LA /UBHHA) 431,784 411,974 19,810
= 34,842
& 28,452
Al 368,490
TNHASAHIE 2 431,784 411,974 19,810
= 34,842
& 28,452
Al 368,490
AHASAEE S 27,100 19,100 8,000




2 MOIS=ZAMD
M NRASAMIE 2E(ULISIHY/UBHEE)
el AESAHEES (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
EIEEEE] 6,300 6,300
11 BAFAHIXI S 6,300 6,300 0
OXFZAIR DS 0]
90,00024*30 212 2,700
OXFZAL 24312 A8t /A8 &4 oYl
90,0002 5% +22 <23 1,800
OXREA EH3EIE I8 Bt2ts] &4 o]
90,0002 %10H* 12 *23] 1,800
307 2I2+0| & 12,800 12,800 0
02 QIFAAAIRIE R 12,800 12,800 0
ORI AL DFLR2IXIME XIS
1,900,000 * 14! 1,900
OXAZA HE2EAE 2AESE X
5,000,0002 % 14! 5,000
OXIAZAHIE AAIX 22t S X
1,900,0002* 14! 1,900
OXFZAL OPHIOl KI2IAH
4,000,0002 % 14! 4,000
401 A& HIL 2 0HY| 8,000 0 8,000
01 Al&H] 8,000 0 8,000
ORI ZAIE H222| oCTV &R
5,000,000 % 14! 5,000
ORI ZAMIE FI|HH A2 AlSH
1,500, 0004 x23 3,000
NEEITE 10,000 10,000 0
307 2I2+0|& 10,000 10,000
04 QIZFHAIAIR E X 10,000 10,000 0
OYFAl HEZAK U3 XIS
10,000,000 %13 10,000
(2)d= S8 NF2SAEE It MHIA X 4,786 5,914 AT,128
= 2,393
[ 718
Al 1,675
307 2I2+0|& 4,786 5,914 A1,128
= 2,393
[ 718
Al 1,675
02 QIFAAAIRIE X 4,786 5,914 AT,128
OXAZSAIE KIFSAR 282 XY
4,786,0002 % 14! 4,786
= 2,393
[ 718
Al 1,675
()X EA 2OUI0IH X - =4 64,898 61,960 2,938
= 32,449




MOIS S A D
ASAHIE 2F (LB IHE/UBIHE)
A2 SAHIEH 2 (Crel: &)
S - EE - 9I(30) - HIRAI - BES ] B2t
< 9,734
Al 22,715
307 2I2H0I& 64,898 61,960 2,938
= 32,449
[ 9,734
Al 22,715
05 DIZIRIErS 64,898 61,960 2,938
OXZAMIE DCIUI0IE XY
64,898,000 * 14! 64,898
= 32,449
[ 9,734
Al 22,715
)N EAHE Y 325,000 315,000 10,000
[ 18,000
Al 307,000
307 2I2H0I& 325,000 315,000 10,000
[ 18,000
Al 307,000
02 QIFABAAIIE X 10,000 10,000 0
OLES NASAT2IY 29 X
10,000,000 % 14! 10,000
[ 3,000
Al 7,000
05 DIZtIErS 315,000 305,000 10,000
OXAZEAMIEH 29 X
315,000,000 % 14! 315,000
[ 15,000
Al 300,000
o1zt 22| (2HA/X1el) 38,070 31,664 6,406
NEEEZICES] 38,070 31,664 6,406
Holes B=EXA 32,470 23,400 9,070
201 LB 17,060 17,100 A0
01 AF22t2IHI 900 900 0
OXiEs U HtRA &2 S22 MF 900
—E28H 100R1*2E+1,5000H 300
—& =9 M 60,0002 *2 & +53] 600
02 2224 16, 160 16,200 A0
OXtLSAIGIEAl 22| 29
12,160,0002 % 14! 12,160
ORI S AIGIRAl 2|22
40,0002%355 1,400
ORI S AlSHAAl =D
1,300,00024 25 2,600
301 LBtE A= 13,410 6,300 7,110




2 MOIS=ZAMD
NI RAERY 22| (EY/XA)
S JoEE B (chel: & 2l)
S - TR - ERI(EIH) - HIRARY - BAS ]
ERERES 13,410 6,300
OXIES T3 &It ot
90,0002%35%*12*13] 3,150
OXHIESSIA ST J|EAl 2L 0|
90,00024%35%*13] 3,150
OXteIE s M20H3| &It ol
90,0002%35H*12*13] 3,150
OX2AIES NIDILE L AHEHEEE 2Dt OiY|
90,000%352 13 3,150
OXIE S 2|3 &It o]
90,0002 * 193] 810
307 2I2H0I& 2,000 0
03 QIIHHIM B 2ZHIE X 2,000
ORI SEYAWATAIZEOE 29 XA
2,000,0002* 14! 2,000
IEUYE 2= 5,600 8,264
206 k=l 1,200 1,200
01 XSl 1,200 1,200
O=EHRZA 25 722
2,0002%3Z+200H 1,200
303 ZAZ 4,400 3,400
01 ZAZ 4,400 3,400
OSHE EUIZ2E A2 4,400
—x24 500, 0002 *2I4 A 1,000
— 2 400,000 *47H A 1,600
—&d 300,000 *6IH A 1,800
HHSIZHI(MOFSE AN OIEHJIER 80,734 79.054 I
DIEET 80,734 79,054 1,
J1=2ZH| 80,734 79,054
201 L2 A 21,004 19,414
01 AFR2t2IHI 21,004 19,414
O=AEX 2 20,0002 * 148 Ax 122 3,360
OS201Aalb] 8,000 *6A!x148ix 122 8,064
Otz 100,000 * 12 1,200
OARZ2 TN 50,000+ 122 600
OARD 24| 7,030
—= A =2l 1,000,000 1CH 1,000
—TalE 42 100, 0002 *3CH*50/ 100 150
—=ADI EH 200,000 53] *1CH 1,000
—T2IE EL(S)
200,000 %53 *3CH 3,000
—T2IH EU(2H)
200,000 53] *1CH 1,000
—PC =cl 100,000&4* 14CH*20/ 100 280




A

NO=S ALt

I HHRHAHI(MOISZAID) (JIEHDIE
chel: Jl2Ad| (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
—JIE 221l 50,0002 122 600
OJIEF AFR22lH] 5,000 142 x 122 840
202 04t 55,440 55,440 0
01 =LHoI] 55,440 55,440
OZoil 20,0002+ 142 * 122 * 122 40,320
O 04| 90,000 * 143« 122! 15,120
203 2| 3,000 3,000
04 BN2IL2FAIY] 3,000 3,000 0
ORN2ILLEAIY| 250,0002!* 122 3,000
204 E2AY] 1,200 1,200 0
01 ZHSY2 LAY 1,200 1,200 0
OZ S AR LB AH| (MOISS AR
100,000 %1128 1,200




